Data Analysis Practice
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Use Logger Pr hi . Sketch the graph below:
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The dependent variable is: ¢ cent
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The algebraic representation is: Y= Ax y & M inaeases
The proportionality relationship is: Solve for the units of the constant:
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Use Logger Pro to graph this data. Sketch the graph below:
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The dependent variable is: vg|ocl 'hj

The independent variable is: Sy¢ face area

The algebraic representationis: \} = A (_L)
S

The proportionality relationship is:
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If surface area is doubled, velocity is: hqw cd
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Solve for the units of the constant:
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